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Heights of 10 students are given below. Find the mean.
1. | Height (in cm) [135|136|154|160|164 167|171
No. of students| 1 2 1 1 1 3 1

1557 .. 1559 ... 1567 ) 1577 779
cm (i) 1—Ocm (iii) cm  (iv) cm (v) ?cm

(i)

Heights of 30 plants are given below. Find the mean.
2. | Height (in cm) |52 |60(71|72|73(84|87|89|91|100
No.ofplants |5 |3 |5 |14 |2 |2 |2|3]| 3

... 376 ) 1156 1126
cm  (iii) —cm (iv) ——cm (v) ——cm
5 15 15

. 1 ..
(i) cm (i)

Ages of 25 students are given below. Find the mean.
3. | Age (in years) [10(11|12|13(14|15
No.ofstudents| 7 |1 (5|4 |4 |4

(i) 3 ears (ii) 359 ears (iii) 62 ears (iv) 309 ears (v) 311 ears
25 y 25 y 5 y 25 y 25 y

Scores of 20 students are given below. Find the mean.
4. Score 72|74|75|79|80|83|84|87|88|89
No.ofstudents| 3 |1 (4|1 |1 |2|2|2|1)|3

(i) 81 (ii) 413 (iii) 408 (iv) 403 (v) 404
i i) == (i) = i) =

Rainfall of 30 days are given below. Find the mean.
5. | Rainfall (in mm) (6|7(9|/10|12 (13|15
No. of days 4/3/1/6 5|92

. 54 o127 ... 109 . 107 117
(i) — mm (i) — mm (iii) — mm (iv) — mm (v) —— mm
5 10 10 10 10

Temperatures of 25 days are given below. Find the mean.
6. | Temperature (in degree C) |27|29/30|31|32(33|34(35
No. of days 4123|4332 |4

i 783 ec iy 8%8ec iy e v BBec v B ec
1) - 1) - 1 V) - V) -
25 25 25 25 5

Weights of 25 students are given below. Find the mean.
7. | Weight (in kg) (42 |43|48|49|50(51|53(58|60
No.of students| 3 (|3 |3 |2 |2 |4 |5 |12

o 1204, 1204 1260 249 1246
| s I —— 11 —— v — V ——
25 "9 25 <9 25 <9 5 <9 25 "9



10.

Wages of 25 labourers are given below. Find the mean.

Wage (in rupees) | 300

341|357

401

423

446

448

486

487

496

No. of

labourers | 2

2

3

3

2

4

3

3

1

2

(i) X418.68 (ii) X419.68

If the sum of the following frequency distribution is39,
find the value of 'x'.

Value | Frequency

5 6
6 6
7 X
8 5
9 10
10

11 5

(i) 4 (i) 6 (i) 3 (iv)

2

(v) 1

14
If the mean of the following frequency distribution isSE ,

find the value of 'x'.

Value | Frequency
2 4
3 2
4 3
5 4
6 2
7 1
9 6
10 3
11 X
12 4
13 2
14 5

(i) 3

(i) 4 (i) 2 (iv) 5

(v) O

(iii) X418.76 (iv) X418.72 (v) X420.68




Assignment Key
1) (i) 2) (v) 3) (iv) 4) (iv) 5) (iv) 6) (i)
7) (i) 8) (i) 9) (iii) 10) (i)
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